1-3

1-2

(p-3)

(p-4)

(r-2)

(p-2)



'H °*H
L 2-33
—h¥/(87°m) Ewdx* +V()y =E y (1)
x=0 L 0 V(x)=0
x=0,L m0)=0 wL)=0
2 sin cos

sin
w= A sin(nmx/L)
n A (] )
(1
h?/(8n*m) (nn/L)* A sin(nnx/L) = E A sin(nmx/L)

E =n>h%(8 L’'m)
a) L=1A=1x10"m, m.,=9.11x10""kg n=1

E = n*h%(8 L’m) = 12%(6.626x10>*)%/(8x9.11x10 " x(1x107'%%) J
=6.02x107"* J=3.6x10° J/mol = 37.6 eV
pl02  7-1
b)) L=10cm=1x10"m, m=1g=1x10"kg n=1
E = n*h%(8 L*m)
= 17%(6.626x1074%/(8x1x107°x(1x107")?%)
=5.49x1021=3.3x10"" I mol '=3.4x10* eV

VXA=C
v=c/A=3x10%(ms™") /(580x10~° (m)) = 5.17x10" Hz

v( )=1(m) A =1x10"(m)/(580x10"° (m))= 17200 cm™’
E =hv =6.626x10"* (J 8)x5.17x10"* (Hz) = 3.426x10™" J = 206 kJ mol ™



2-27 2-28
AE =me*/(8 & h?)(1/n* - 1/n'%)
=9.11x107"(kg)*(1.602x10""°C)*/(8x(8.854x10™"2 (F m™"))*x(6.626 x107>* (J 5))*)

x(1/2% - 1/4%)
=2.18x107"¥x(1/22 = 1/4%) 1 = 4.08x107"° J =2.55 eV
v=AE /h=4.08x10"/6.626x10"* Hz = 6.16x10"* Hz
v( )=6.16x10" (Hz)/ 3x10" (cm s™") = 2.05x10* cm™*

D
« )
2)
v (4E)
AE=E,-E;=hv
3)
Schrodinger
(RM) z 0 a@) x
(P(A)
R(r) n
n=1,2,3,
HE) I
I= 0,1, ,n-1
P(#) m
m=-l, ,-1,0,1, ,I
Schrodinger
)
s=-1/2,1/2

a) N: 1s%2s*2p’
Ar: 15% 28% 2p° 3s% 3p°
Fe: 1s” 25> 2p°® 3s* 3p®4s” 3d°
Fe’™:  1s%25* 2p° 3s” 3p°®3d°
Fe’™:  1s% 257 2p° 35% 3p°3d°
b) Fe** 4 Fe’* 5



)
AxAp > h/4n

AEAt > h2zm

b)Pauli
2
)
(n,I,m) n,l,m,s
¢)Hund
2 2
d)
w)
(hv)

v>W/h

Wr/h
e)

X

X
f)de Broglie
v )
A=h/(mv)



g)Schrédinger

—h¥(8n’m) d*wd +V()y =Ey

( )
h)
74
2
7 7
i)
( )
r r+dr (D(r))
S R(r)
D(r) = 4nr?| y(r)[* = 4nr’| R(r))?
1s
2-39
Z=1 Is n=1

AE =mZ? e*/(8 &y h)1 /17 = 9.11x107" kgx1*x(1.602x107"" C)* /(8%(8.854x107"> F m™')*
x(6.626x107%% )x1/12=2.18 x10™"* I = 13.60 eV
He"
AE =mZ*e*/(8 &> h*)1/17 = 9.11x107*" kgx2?x(1.602x107"° C)* /(8%(8.854x10 > F m™')*
x(6.626x107? )x1/1* = 8.72x10"* J = 54.43 eV

6s 4f

4s 3d

b)



Pauling
() 4.0
Mulliken

c)

d)

1 1V

1eV=1Vx1.602x10""C=1.602x10"""J = 96485.3 ] mol"

L

9)



b) « B
4 2 a
@ )
1 §
c) a (4He)
p
Y
2y 238.05078 g mol ™'
24Th 234.04359 g mol ™
*He 4.00260 g mol ™'
238U - 234Th 4He
AM
AM  =238.05078 - 234.04359 - 4.00260 = 0.00459 g mol ™"
E
E =AM c*= 0.00000459%(2.998x10%) = 4.13x10"" J mol ™"
=4.28 MeV
2°Ra A=1372x10" ! 3-8
T

T=1/A=1/(1.372x10"")=0.729x10"" s = 843750 day = 2310 y
e (N/Ny)
N/No=2x10""*/1x10""2=2x1072
3-6
N/No=e™
e A 1.2449x107% y! 5568

t=—1/A loge N/No= 1/(1.2449x107%) x3.912 = 3.14x10*y

(‘He o )



Bq)

Y

(KCI) 1 kg

40K

1

0.012 %

lg

15,000

30

12

(15,000



a)
b)
T

c)
Z'e Ze

8'

r
90<=
3 2p

NaCl (Na")

H,0-BF; O-B

F=Z'eZe/(4neoe' 1)

E=Z"eZe/(4ng €' r)

80
p 2 p
st ste
(px-PysPy) 4

(cr)

(Px:py)

105

109.5<

90<=

€0

2s



109.5<

a)H, He, «
B Hz 2B Hez

(c%) 1

~, G* G*
P S
s AN ’ )
, N
N $ g .
. y
N ’ '
1s c Is 1 ) | :
s c s

b)He;
oy,

2s He, s \ o b
[e3

3 o,m,T

c) N
Ny "

-10 -



a)Li 2s

Be

b)BeClz
2s 2
2p
Cl p 1
c
BGCIZ
1 2p
Sp
(p56 )

o(l) 0(2)
0,
8
3
(8-3)2=2.5

0,

pip

2s 2

Cl
180

p—

,::’—'—%F ‘h*

%f%’ 4%—4%<f

R

Ay

o(1) 0(2)

0}

8

4
(8-4)/2=2

-11 -

Li,

2p

2p c

B6C12

%ﬁ%

4H_

o(l)

+H+,

o
**%

0(2)
0y
8
5
(8-5)/2=1.5

(Hz) o
1
2s
Cl p
2s
2

%% %H%i

.$¥<

o)

L

0(2)

0,”

8

6
(8-6)/2=1



BeCl, Be 2

CeHg ( )

CH,4 sp3

H,O 6

NH4

Sp3

NH;

CO, ( )

[Cu(NH;),]*" Cu**

4d 1
PCls P 5

CH,4

3d

Sp3

NH;

-12-

H,O

B€C12

2
Sp

Sp3

Sp

dsp

4s

Sp

4p

Sp3



XCFQ

X€F4

a)

b)

c)sp

Xe

3

dsp’

XCF2

5p

NH;

Be

2
5s  5p
F
F
55 5p
4
5d
F
sp3
KRR ENIN
N - N
§ p
s P
1 !
U
Sp p
Lo
— -

- 13-

5s

5d

NH;

5p

5s

H,O



d)o,n s (H)  sp’

p
e) 2
P
Y=_C ¢1+C2¢2
"4 G G
Y = (g1 + @ )2 = (- ¢ )/ V2

f) 2

-14 -

()



9)

( )
R
RN
(1 V/m)
.
n= q xr
h)
)
T
T
T
T
1) ,
( )
9]

-15-

(Gx*)) -9

(+a) (€"))
()



HF 198D =

HClI 1.03D

HBr 0.79D=

HI 0.38D

NaCl 9.00 D
HF

0.45

HCl
4-27
B

0.169

Si0,*
SO,*

6.604>< 107°°Cm
=3.436 ><10°°Cm
2,635 <107°°Cm
=1.268 <10Cm
=3.002 <10%”Cm

0.117
A=1 0

- 16 -

r=0.0917 nm
r=0.127 nm
r=0.141 nm
r=0.160 nm
r=0.236 nm

q=-6.604x10""/0.0917x10"° =-7.20x10C
Z= -720=10"

/1.602><107"°  =-0.449
HI  0.049 NaCl 0.794
( ) o8 M1+ AP
1 B
Sp3
Sp3



b)

a)
b)

J J+1 (cm™) 5-8
h/(4n’c) (@ + 1)
I+l 2
h/(4n’cl) (3 +2)
A%
v = h/(4n’cl)

| = h /(4n’c v)= 6.626x107>*/(4x3.1415%x2.998x10"(cm s ")*3.85(cm ™))
=1.454><10"* kg m
pn
no = 12.0x16.0/(12.0+16.0)/(6.02x107) g =1.139x10™> g = 1.139x10** kg

F=1/p= 1454x10"%(1.139x102%) =1.277x10"2" m’
r= 1.13x10"m =1.13
H, 4160cm™  vo=4160x2.998x10"(cm s ™) = 1.2471x10" Hz
HD: 3632cm™’  vo=3632x2.998x10""(cm s™") = 1.0888x10"* Hz
Dy: 2994 cm vo=2994x2.998x10"(cms™') = 8.976x10" Hz

H, p = 1.00x1.00/(1.00+1.00)/(6.02x10 ) = 8.303x10 > g = 8.303x10 > kg

HD p  =2.00%1.00/(2.00+1.00)/(6.02x107%) = 1.107x10** g = 1.139x10 *° kg
D, p =2.00x2.00/(2.00+2.00)/(6.02x10*) = 1.661x10** g = 1.661x10*" kg

17 -



5-10 ,

k= (2nvp)® >p

H,. k=(2x3.1415x1.2471x10'*)*x8.303x10 ** Nm ' =5.10x10° N m""
HD. k=(2x3.1415x1.0888x10")?x1.139x10* Nm ' =5.33x10* N m "
D,. k=(2x3.1415%x8.976x10")* x1.661x10' Nm ' =5.28x10° N m""

() ()
H, 259 253
Li 181 1347
Na 98 883
K 64 774
Rb 39 638
Cs 28 678
S
17
() ()
F, -220 -188
Cl, -101 ~34
Br, -7 59
i 114 184
2
16 p80 5-5
2

- 18 -



3
Sp

AgCl  NaCl

NaCl
NaCl

AgCl

Cl

NH; (
NH;

H;0"

cr
Cl Ni*
sp3
Hund

H,O

CN™

NaCl
1
( )
NH,"
(
3d
2
3d

-19-

AgCl 1)
1s
H Is
4
H" Is

P84

4s 4p

3d

(High Spin )

4s  4p

dsp



3d 10

T d 1
3d 1
Ao = 19.0x10° cm™
A =1/(19.0x10%) cm = 526 nm

a)
b)Bragg
X 2
Bragg 5-13
2dsin @=nx (n )
©)
d
[ <Br <CI'<F <OH < C,0,7 <H,0 <NCS < <CN™
d)
[Cu(NH;),]**
H,O NH; 1
(NH,CH,CH, NH,) 2 (NH>)
e)
( )
( ) ()
( )

-20-



L

*

t)]
c(mol L)
| Lambert—Beer
&
A= logo(le/l) = ecl
&
h)
M (da/dt)
T=1xdw/dt
(3] (dvAt)
F=m x dv/dt
i) NMR:
lH 13C
1H 13C
J IR
(C=0 ) CH;

221 -

M

(m)
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